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HCF AND LCM

Solved Examples

1. The HCF of z3y?2° and z2y*23 is



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_UzihbnxwKxku

A. w2y2z3
B. a:yz3
C. :Byzz?’

D. x2y2z2

Answer: A

o Watch Video Solution

2.The HCF of p(z) = 26(6z* — z* — 2z?) and

g(z) = 20(2z° + 3z° + 334) is


https://dl.doubtnut.com/l/_UzihbnxwKxku
https://dl.doubtnut.com/l/_AjjbmGJ3A0vr

A dz*(2z + 1)
B. 6> (22 — 1)
C.6z%(2z + 1)

D. 42%(2z — 1)

Answer: A

° Watch Video Solution

3. The HCF of 8z* — 16z% — 4022 + 48z and

16x° + 64z* + 80z + 32x2% is


https://dl.doubtnut.com/l/_AjjbmGJ3A0vr
https://dl.doubtnut.com/l/_l4lJCSQR72T8

A dz(x + 2)

B.8z(z + 2)

C.2z(x — 2)

D.8z(x — 2)
Answer: B

o Watch Video Solution

4.The LCM of 12z%y32? and 18z%y%23 i

A. 24:1:4 2,2


https://dl.doubtnut.com/l/_l4lJCSQR72T8
https://dl.doubtnut.com/l/_LOyapeOyCb85

B. 32:1;43/23
C. 36x4y3z3

D. 21xyz

Answer: C

o Watch Video Solution

5. The LCM of z%—22> —2+2 and

23—z —dr +4is

A (z —1)(z* — 4)


https://dl.doubtnut.com/l/_LOyapeOyCb85
https://dl.doubtnut.com/l/_UBUcdwG8qYu8

B. (27 — 1) (2 — 4)
C.(z° —1)(2* — 9)

D.(z — 1)(z — 4)

Answer: B

o Watch Video Solution

6. The HCF of two polynomials is x+ 3 and their
LCM is 2° — Tz + 6. If one of the polynomials

is 22 + 2z — 3. Then, the other polynomial is


https://dl.doubtnut.com/l/_UBUcdwG8qYu8
https://dl.doubtnut.com/l/_rctcPag6QxZ8

Azl —x+6

B.z2 4+ — 6

Cz’+x+2

D.z’ +x + 3

Answer: B

° Watch Video Solution

Exam Booster For Cracking Exam


https://dl.doubtnut.com/l/_rctcPag6QxZ8
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D.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_e0HHv6JlvLso

2. The LCM of (x-1)(x-2) and z*(z — 2)(z + 3)
is

A. (x-1)

B. (x-1)(x-2)(x+3)

C.z?(z — 1)(z — 2)(z + 3)

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_7tLPL24iqcOC
https://dl.doubtnut.com/l/_Z8dIXIUwhcYt

3. The LCM
2(a2 — b2), 3(a3 — b3), 4(a4 — b4) is
A.6(a — b)(a + b)(a® + b7)
B. 12(0,4 — b4) (a,2 + ab + b2)
C.a® -0’

D.12(a* — b*)

Answer: B

of

o Watch Video Solution



https://dl.doubtnut.com/l/_Z8dIXIUwhcYt

4, The HCF of z?—zy—2y*> and

222 — xy — y’is

A. (x-y)
B. (x+y)
C. (2x-3y)

D. None of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_pc7uNz8QX2MB
https://dl.doubtnut.com/l/_yD95qyYQdLG7

5. The HCF of two expressions a and b is 1.

Their LCM is

A. (a+b)

B. (a-b)

C.ab

D. 1/ab

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_yD95qyYQdLG7

6. The LCM of the polynomials
(z + 3)%(z — 2)(z + 1)° and
(z+1)°%(z +3)(z +4)is

A(z —2)(z+1)°(z + 3)%(z +4)

B. (z — 2)(z + 1)°(z + 3)(z + 4)

C.(z—2)(z +3)(z +4)

D.(z — 2)*(z + 1)(z + 3)*(z + 4)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_LW9c1uLMaYxw

7.The HCF of 4y*z — 9y*z® and 4y’z? + 6yz*
is

Ay z(2y + 3x)

B. yz(3x + 2y)

C.yz’(z + 3)

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_C6iuzlQxRvn2
https://dl.doubtnut.com/l/_zs5hCkaX9oDA

8.The HCF of 22° + 2z, 22 + 1, 2% — 1is

A. (:cz + 1)
B.(z — 1)
C.1

D.(z + 1)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_zs5hCkaX9oDA

9. The LCM of the polynomials A and B, where
A= (z+3)°%z — 2)(z + 1)% and
B = (z + 1)°(z + 3)(z + 4), s given by
A(z—2)(z+1)%(z +3)(z+4)
(z — 2)(z + 1)(z + 3)*(z + 4)
B. (z — 2)(z + 1)(z + 3)*(z + 4)
C.(zx+1)(z —2)(z+ 3)(x +4)

D. (z — 2)(z + 4)(z + 3)*(z + 1)°

Answer: D

Y. |


https://dl.doubtnut.com/l/_cachNbD8CxCc

l @ Vyatch vVideo Solution ]

10. For what value of z,2* — 4z — 5 and

3 — 4z* — 7z + 10 eliminate ?

A4
B.3
C.5

D. None of these

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_cachNbD8CxCc
https://dl.doubtnut.com/l/_lpx9p6pCfCT8

11. The HCF of two expressions is 3z% + 4z — 4
and their LCM is 3z* + 42® — 72 — 42 — 8.
One of the expressions is

A (z +1)(32® + 4z + 4)

B.(z — 1)(3z” + 4z — 4)

C.(z —1)(3z” + 4z + 4)

D.(z + 1)(32° + = — 4)

Answer: B

I o View Text Solution


https://dl.doubtnut.com/l/_lpx9p6pCfCT8
https://dl.doubtnut.com/l/_chlWKCDThzmX

122 The HCF of two  polynomials
4z° (z°- 3z + 2) and 12z(z — 2)(z° — 4) is
4x(x — 2).The LCM of the two polynomials is :

A. :132(332 — 3z + 2) (:132 — 4)

B.122%(z* — 3z + 2) (2* + 4)

C.dx(x — 2)

D. 1222 (ac2 — 3z + 2) (ac2 — 4)

Answer: D

| &


https://dl.doubtnut.com/l/_chlWKCDThzmX
https://dl.doubtnut.com/l/_NdxrDEB3dhcF

| ' Watch Video Solution |

13. For what value of z,z® — 2z% — 2z — 3
and 22 — 2z — 3 becomes equal to zero ?

A3

B.4

C.0

D. 1

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_NdxrDEB3dhcF
https://dl.doubtnut.com/l/_kqtYssaVna9X

14. The LCM and HCF of two polynomials p(x)
and q(x) are 36z°(z +a)(z® —a®) and
z’(x — a) respectively. If p(z) = 4z (2 — a?)
, then the value of q(x) is

A. 9z (a: — a3)

B. 92:° (zc — a3)

C. 4z (a: — a2)

D. None of these

Answer: B


https://dl.doubtnut.com/l/_kqtYssaVna9X
https://dl.doubtnut.com/l/_t9lt3kXwVQjT

° Watch Video Solution

15. The LCM of two polynomials p(x) and q(x) is
z° — Tz +6. If p(z) = (z°+ 2z —3) and
g(z) = (z® + = — 6), then the HCF is

A x+3

B. x+1

C.(z+2)(z+1)

D. None of these

Answer: A


https://dl.doubtnut.com/l/_t9lt3kXwVQjT
https://dl.doubtnut.com/l/_U1JZFP55a3cr

° Watch Video Solution

16. If (x+1) is the HCF of (aw2 + bx + c) and
(ba:2 + ax + c), then the value of c is

A.O

B.1

C.2

D.3

Answer: A

| 8 l


https://dl.doubtnut.com/l/_U1JZFP55a3cr
https://dl.doubtnut.com/l/_VlIkjnbeTTcT

17. The volume of a cube is given by
V = 2% — 92° 4+ 27z — 27. The edge of the
cube is

A. (x+3)

B. 3(x-3)

C. (x-3)

D. None of these

Answer: C

[ 1


https://dl.doubtnut.com/l/_VlIkjnbeTTcT
https://dl.doubtnut.com/l/_A2fSuZXnuRRS

I O Watch Video Solution

18. The area of a square is given by

A = z? + 4z + 4, then the diagonal of the

square is
A. (x-2)
B. (x+2)
C. ﬁ(m — \/ﬁ)
D./2(z + 2)

Answer: D


https://dl.doubtnut.com/l/_A2fSuZXnuRRS
https://dl.doubtnut.com/l/_DAlf4BvYuq5c

° Watch Video Solution

19. If (x+k) is the HCF of (ac2 + ax + b) and

(:L'2 + px + q),then the value of k is

a—>b
A.
P+ q
—b
B.q
p—a
b —
C. d
p—a
—b
D.q
a—p
Answer: B

| 8 l


https://dl.doubtnut.com/l/_DAlf4BvYuq5c
https://dl.doubtnut.com/l/_XmPXmBNVEbxR

1 3
20. The area of a rhombus is 5:132 + 2x + 3

Then, its smaller diagonal is

A. x+2
B. x+3
C. x+1

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_XmPXmBNVEbxR
https://dl.doubtnut.com/l/_rF54HhpEY88J

21. The volume of a cuboid isz® — 7z + 6, then

the longest side of cuboid is

A x+3
B. x-1
C.x-2

D. None of the above

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_rF54HhpEY88J
https://dl.doubtnut.com/l/_jnOVJ7wJYgKW

22. HCF and LCM of two polynomials are (x+y)
and
32° + 5zty + 223y? — 3z2y® — Sryt — 2¢°,
respectively. If one of the polynomials is
(:1:2 — yz). Then, the other polynomial is
A. 3zt + 8z3y 4 10z2y* + 2y*
B.3z* + 823y + 10z2y? + Tzy® + 2u*
C.3z* + 823y + 10z%y? + Txy® + 2¢*

D. None of the above

Answer: B


https://dl.doubtnut.com/l/_zle27QesFWFt

° Watch Video Solution

23. If (x-a) is the HCF of z> —z — 6 and

z? + 3z — 18. Then, the value of a is

A.3
B.4
C.1

D. 2

Answer: A

| 8 l



https://dl.doubtnut.com/l/_zle27QesFWFt
https://dl.doubtnut.com/l/_Tuo3T1yJjEr2

24. For what value of a, the HCF of
3/2 — 2y — 24 and y?‘ —ay — 6is (y-6) ?

A.15

B.5

C.30

D.6

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Tuo3T1yJjEr2
https://dl.doubtnut.com/l/_OEX5EYHyprHB



https://dl.doubtnut.com/l/_OEX5EYHyprHB

